Sequence #: M11841 (8173) nucleotides
Energy 1: -34.710000 (kcal/mol): Start=2337 Sl1=6 S2=6 Ll=1 L2=12 L3=0 End=2373
GAAACAAGCTTA A

CCCCGG ACCCCG

CCATCAGGGAAACGGACTGAGGGGCC TGGGGCGG
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COTCACCTTTCTTCCACCOAACAANDACANCCOATTTC ANC
GGTCAGCTTTGTTCCAL AP ATTTCA A”R
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Energy 3: -23.680000 (kcal/mol): Start=3480 S1=5 S2=6 L1l=4 L2=36 L3=0 End=3541

ATTAATGGGAGCTTTACAACCTGGATTGCCCTCTCC TAAT
TGGTA TCACCG
GGCTCTTACAAGATTTACGAGCCGT GGTGGCTA

Energy 4: -23.325000 (kcal/mol): Start=1502 S1=7 S2=5 Ll=1 L2=11 L3=0 End=1537

CACATTAGCCA C
ATACCCC GTCAT
TAAAAACGGCTGCCTCTCAATATGGGG TAGTAGA

Energy 5: -23.280000 (kcal/mol): Start=7255 S1=6 S2=6 Ll=1 L2=29 L3=1 End=7308
GAGGCATCTGCTTAGCTTTACAGGAAAAA G
GGACGA G ACGACA

CAAAACAGAAGAGGATTAGATCTGCT TGCTGTTT

Energy 6: -23.010000 (kcal/mol): Start=6464 S1=5 S2=7 L1l=6 L2=15 L3=2 End=6508
CTTTGCCCGAAGCCC ACTTTIC

GGTCT CC CACCATT

AATTGCATAAATCGCTGTTCCCAGA GTGGTAAAG
Ernecreery 7. 22 Q10000 ya) 1 /1) Qo+ 22N Cl—r <2710 T1_-0 TO2_-20 T23_-9 T2
Eheryg : 3 eeat/rmol) Stare=3444—7S+ SZ=1+0—5+ + + B 1
CONCCOCCTTAATCCCACTATCOTATTA COTAAATC
ACGAGCCETTAATCGECCACTATGCTATTAR GETARATG
TTTACH fal lJaliJalalal.Val
T TAGA—A ATTCTCGEAG
COATATTTOCTTATAAAAAACAAATOT TOOCACCTTTAL
ATATTFCTTATAARAARCGARRTCT ToCEGAGCTTFTA
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=1310 S1=5 S2=6 L1=8 L2=27 L3=0 End=1366

(kcal/mol) : Start

-22.370000

Energy 9:

CACACCTC

CAACATATCCCTAAAGGAAAATGCTGC

CGGTCA

GGGGC

GCCAGTCG

CAGAAACTGCAGGGGGCTTTTCTCG
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18 L3=0 End=6126

=6081 S1=5 S2=8 L1=2 L2=

Start

-22.025000 (kcal/mol):

Energy 11:

CA

CCCACTACAGCCAGCCCC

TGTGTGTIG

TCATC

ACACATATAG

TTCAGTAACCAACTCCCTAAAGTGG

6 S2=6 L1=2 L2=5 L3=0 End=6618

=6588 Sl

(kcal/mol): Start

-21.995000

Energy 12:

AA

TGCTT

CGTTAG

GTCGGT

GCGGTCAG

TGTTTCCTCCCAACGCCAATTAGCCG

8 Ll=2 L2=8 L3=0 End=2718

Start=2683 S1=5 S2=

(kcal/mol) :

-21.485000

Energy 13:

AG

CCTACCTIC

ATTAACTC

TCCTA

TAATTGAGAC

TTACTGTTCCTCAAGGCAACAGGAT
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Energy 15: -21.215000 (kcal/mol): Start=1744 S1=5 S2=6 L1=4 L2=30 L3=0 End=1799

TTGCTCAAATTCAAGCGGCTGCTACAAAAG ATGA
TGTTA GGGCCT
TCTAGCACTGATGCACAAATGCAAT CCTGGAGA

Energy 16: -21.005000 (kcal/mol): Start=206 S1=5 S2=8 L1=2 L2=33 L3=0 End=266
TTGCCACCATTAAACGAGACTTGATCAGAACAC AT
ACGCA ACAGAATA

CTCCCCTCCCACTTACTGCCTGTGT TGTCTTGTICT

Energy 17: -21.005000 (kcal/mol): Start=8029 S1=5 S2=8 L1=2 L2=33 L3=0 End=8089

TTGCCACCATTAAACGAGACTTGATCAGAACAC AT
ACGCA ACAGRATA

CTCCCCTCCCACTTACTGCCTGTGT TGTCTTGTCT

Speray 2hr —20. 55000 (xeat/mel) s Start— /256 Sl-5 S2-5 Sl-5 L4 L0 bnd-/254

Energy 19: -20.545000 (kcal/mol): Start=2762 S1=8 S2=5 L1=8 L2=47 L3=0 End=2842

CCTATTACCTGTCAGAAGCCCTCCTTAACATTATGGTTAGATGATAA TCAGACAT
AACCTGGG TTATA
CTATAGAGGACAAGGAAGTTTTGGATCC AATGTTC

Energy 20: -20.520000 (kcal/mol): Start=6369 S1=8 S2=5 L1l=4 L2=9 L3=0 End=6407

AGGGCCTCA CACA
GGAGGTAG TCTGT
GGTTTGCTGGAATAGCCAACCCTCTGTT AGATAAG

Energy 21: -20.510000 (kcal/mol): Start=2905 Sl=6 S2=7 L1=10 L2=3 L3=2 End=2943
TAA CCTATAACAG
TTAACC AA TTCCATA

AGCTAGAGGACTGGCCTCCTAATTGG GAGGTATAG



Energy 22: -20.450000 (kcal/mol): Start=5810 Sl=6 S2=5 Ll=1 L2=36 L3=3 End=5868
AGATTGCCTTTTCCTTTGCTCACAGAGATGAACTTC G
GTCCCT CTC TTAGT

ATACCTAACAATAACCAATCCAGGGA AATCATC

Energy 23: -20.320000 (kcal/mol): Start=3314 S1=7 S2=6 Ll=1 L2=12 L3=1 End=3352
AGTGAAAAACTT C
CCAATTA C CGGTGA

AAATCAGACGAACCTGTICTGGGTTGAT GCTGCTGC

Energy 24: -20.095000 (kcal/mol): Start=7088 S1=5 S2=5 L1=5 L2=3 L3=0 End=7115

TGG ATCTA
CGTCA GGGCC
TAGGATTAGGTATAACTACTGCAGT TCTGGGG

Energy 25: -20.000000 (kcal/mol): Start=2352 S1=5 S2=5 L1l=4 L2=5 L3=2 End=2380
CGGTC AAAC
GGGGT AT TCGAA

ACTGAGGGGCCAGCCCCAGGCCCCG AGCTTTG
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Energy 27: -19.830000 (kcal/mol): Start=2228 S1=5 S2=5 L1=3 L2=45 L3=0 End=2295

TGTAAAAGAGGGAAACATTGGGCCAATGAATGCAAATCCAAAACT ACT
GGACC CTGTC

ACAATTCTGAAACAAAGGCTCCTIGG GATAGTC

Energy 28+ —19-760000 {keal/mol)+ Start=1503 ¢1-5 ©0—¢ 111 1010 13-1 Eagd-1537
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Energy 30: -19.550000 (kcal/mol): Start=4900 S1=5 S2=6 L1=8 L2=23 L3=1 End=4952
ACCTATAGCCCACGGCAACCAAA GCCCATTC
GGTCC A TCCGGT

ACCTTTTTACATCGGACATGTCAGG AGGCTGAC

Energy 31: -19.360000 (kcal/mol): Start=728 S1=6 S2=5 L1=5 L2=29 L3=2 End=783
AATTTAATTAAAGAATTGATAGATAAGAA ACTGC
GGTCAT AC TICTTIC

CTTTTGGCCCTGAGAAAGTCCCAGTA AGAAGTT

Energy 32: -19.155000 (kcal/mol): Start=6589 S1=5 S2=6 L1=2 L2=14 L3=0 End=6626
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Energy 34: -18.930000 (kcal/mol): Start=3 S1=7 S2=5 L1=5 L2=46 L3=1 End=77
ATGTCTTGGCCTCTGTTTGCTCTAGCTCTACGCTTAAGATTCAAGA AGCCG
GTAGGCC C GTCGT

CCTGTCCGG TGGCGAA

Energy 35: -18.930000 (kcal/mol): Start=7826 S1=7 S2=5 L1=5 L2=46 L3=1 End=7900
ATGTCTTGGCCTCTGTTTGCTCTAGCTCTACGCTTAAGATTCAAGA AGCCG
GTAGGCC C GTCGT

ATATATTTAAAAGGGTGACCTGTCCGG TGGCGAA



Start=3095 S1=5 S2=7 L1=2 L2=44 L3=1 End=3164

(kcal/mol) :

-18.740000

Energy 36:

AG

GTCACTGCCCAAATGTTAGCCCAAGGCTACAGCCCCGGAAAAGG

TGATCCT

ATACA G

ATTAGGAAA

TTCTCAAATGAAAATTATGATGTGT
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624 S1=5 S2=6 L1=3 L2=3 L3=2 End=651

(kcal/mol): Start

-18.540000

Energy 39:

CCT

AGG

TTTGGT

GAACG CC

GAACCATA

TTTTGATTTTGTAAAGGATACTTGT
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7 L2=28 L3=0 End=

6 Ll=

Start=4613 S1=5 S2=

(kcal/mol) :

-18.440000

Energy 41:

CTTCCAC

CATATACTCTTGCTGATACTACCATCAA

TAAGGT

GCCGG

ATTTCAAA

GCTTTATTAGTTTTTACTGATGGCT

=1656 S1=5 $S2=5 L1=8 L2=6 L3=1 End=1689

(kcal/mol): Start

-18.430000

Energy 42:

AAAAGAAA

GTAATG

GCCGA A CAACT

GTTGGGA

TTTTGAAAATTGTAGAGAAACGGCT



Start=2150 S1=6 S2=6 L1=5 L2=50 L3=3 End=2228

(kcal/mol) :

-18.410000

Energy 43:

AAATG

TTTTGCAAAAAATTGTCATGAACATATACATAACAATTCTGAAACAAAGG

ACAGGA AAG GAGGGC

CTCCTGGA

ATAAAGAAAAAGGAGGGTGTTGTTTT

=387 S1=5 S2=5 L1=8 L2=44 L3=0 End=458

(kcal/mol) : Start

-18.285000

Energy 44:

GAAGACGA

CGGCCCGGATTAAAAGAGAAACGAAAGTAAACTTTCTTCGGCCG

GGCGC

CGTTIT

CCGCGGG

GTTGGATACGAGGGAATTTCGTGAG
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=1813 S1=8 S$S2=5 L1=3 L2=37 L3=2 End=1878

(kcal/mol): Start

-18.020000

Energy 49:

ACC

CAGGAGTCAAACAAGGACCCGATGAGCCATTTGCAGA

CG AGGAC

ATTCCCTT

TTTTGTA

GCCTGGAGAAAACTTCCCGTTAAGGGAG



Energy 50: -18.000000 (kcal/mol): Start=4357 S1=5 S2=5 L1l=4 L2=49 L3=2 End=4429
AAAAATACTTTGGAATTGAACCCTCCGTAATCATACAGCCATACTCTAA GGAA
ATGAT AC CAGAG

CGCTATAGCAGATTTAATCATACTA GTCTCAA

Time taken to run: 4716 seconds 350 milliseconds
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